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Find the sum S of the following arithmetic progression.
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HA TN

[

D 1,4,

7,10, 13, 16, 19

7 (7479)

® 1, 38, 5 17, 9, 11

S =

70

2

©® 2

S =

4, 6, 8, 10, 12, 14

7 (2474)

@ 5, 10, 15, 20, 25, 30, 35
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Find the sum S of the following arithmetic progressions.
v En HAED
W% i
) R} 29 T9H Lr ) Fo 9 2979
@® %UPE 4, EEPE 40, H# 10 |O W) 3, K E Eé&
the first  the last number of
term term terms
70 (4+40)
S =
2
= 220
LxZ) ) X :9'\4',5 LrZ) 9 & :5'\4',7
© #H 3, A2, WS |@ FHE2 A%3 HG6
an:3+(n */) X 2
a.=3+(5—-7)%x2
=77
g (3477)
2
= 35
29 4’ :9:4'/5

Q=2 x7—1 =7

Q, =2 x6—7 =71

6 (7477)

@ 1737577797"'749 @ 1,2,3,4,5,"',50
LrZ) Iy &
wmAE ] N E 2

the first term common difference

ay

=/+(n—7)x2
=2 n—/7

I n—7=49 &7

g 5 (74+49)
2
= 425




Ly & Fono noEn

i (W
438 %EWJ(D*H hi L JE( (& )
P 0¥ EALES  mitD oF x5 & F50o b b
1L REDT, RO EEERE L, 4. ROEZEHHIO S %R X,
Fill in the blanks to complete the sentence. Find the sum S of the following arithmetic progressions.
R R A e T L U e En bAED
ORI MIES &2 RRoE a % {31 ¥ i st
sequence term  ------- the first term ~ ‘------------ =) ) =545 ) 029 2545
sV o, @%)JIEZ XIEIS H¥9 |O #1H 20, XE , ¥ 10
the first the last number of
e ) ¥ $ 91 A term term terms
@ I@,\@%xz’)ﬁﬁf%ék% = O o i % %
””””””” . - number of terms
, REOHE AL 9 (247¢)
””””””” last term S P)
L 29 Vo T DEOE
@ ¥ Ha lZ —/EODiiﬁrd%/k/z}:Eb’C %foﬂ’béiﬁﬁﬂ%
””””””” 7 5no no T = 90
FlE vy, —/E@%Vi’ :kb\jo -
””””””””” common difference -------------
LxZd 9y & 9 T ho Wo lEA 29 Lrzs -5 X ) LrzH -5 S5+
@ WHa,NZEdD %i&ﬁﬂ@ e E I @ PITH 4, A=, KT |@ WIHE2 A= 4 K6
,,,,,,,,,,, ??l,t,h‘i“fft},c,P]?(?g]f‘??smns
p = +( ) Qp=4+(n —7)x 2
ek [ﬁ>
2. Yk@ Z L %/T\”]S’:o Show the following
) £- 29 5 & =519 L5 &8 Fono a7*4+(7*/) 2
WH a, REI, K7 d, Ei&nO)%%%ﬁU@%u
=76
g nlati) _nizat-1al
" 2 2
””””””””””””””””” 4476
al - 19 a2 - + 39 an*I - o : aan_ S ( 2 )
Sp=0a + Qy +--+ Q1 + Qp B
n=t H e = O
Cwpty  Ex< —
O g FFzE ¥ i35 & Reversing the order ® a,=3n — é%& ® A, =3n —2. :éfﬁ 6
n—i 3+1 77777 i ””3+”'+1 77777 i’i ””H—l 77777 ”® a/:3 X /] —] =2
o s
O+O@%EH ﬁ‘ék
””””””” Voo T e a- = X 5 — —
98, =+ it et 4 A 5 =3 Xb5—=7 =74
¥ (2+74)
n 5(2+7
E SR R Wiz )
512 Qp= +( ) ERATHE = 40
the last term ~ ccmmmmmmmmmmmmomioooooooeo Substituting -
S — n{2a+(n—1)d}
n 2
@ 1,4,7,10,13,---, 40 @ 3,6,9,12,15,- -+, 30
Ly X foho
3. WOBERI O S & R» L, Lr oy =
Find the sum S of the following arithmetic progression. MR ~E 3
0 0 the first term common difference
151 74 i 74
a,=7 —7)x3
@ 1, 4,7, 10,13, 16, 19 @ 2, 4, 6, 8 10, 12 " +(n )
g 7 (7479) —in—2
2 3 n—2=40 £V
_ 9%
= 10 n =14 X 7B #
@ 3, 6, 9, 12, 15, 18 |@® 10, 8, 6, 4, 2, 0
S 4 (7+40)
6 (34+78) 2
S =
2
= 287
= 63
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Fill in the blanks to complete the sentence. Find the sum S of the following arithmetic progressions.
Lr 29 Wo T il I bA N
@O ¥ HalZ —/EODﬁd%/k/?}:EL“C %foﬁ’bé%ﬁﬂ% 15 B il
””””””” T5ho0 Vo T
BH L, otk L, @ 4,1,10, 13, 16 @1, 38 5 7 9
””””””””” common difference -------------
LrZ) Iy & 7 T ho Wwo itk )
@ HHEa,NEd D% %%xﬁﬂ@ % TE
R arithmeric progressions S 5 (4476 )
a, = + ( ) - 2
LxZ) o 29 5 & 22F5 k; S T o
® WHa, REIL, AEL T n D% 5o g
= 50
L
Sp= ot )y nc v a iy,
77777 WS =447+ 0+73+76
@ = ’aZ:‘L i »An = - Qn= Lrzs 2529 255 Ly Eo) 2545
”””””””””””””””””” @ P)H 2 XE , HE 10 |@ M)A 3, H 30, IHZX 10
Sp=0a + Qs +--+ Q1 + Qp
Sp=1 T e - 0 o 70 (2+20)
Conty  Ex< 2
O NE FZz iicd s &
S = //0
S,=1 i+ = e+ + o)
e WS = 24 4+ b+ 0+ /0
O+@%FHT DL +1 24 Y] 6+ 18+ ]0
Tt . H Tt [ H LrZ) o0& 50 Ly ) ) & )
2S,= + I+ o+ e+l + @ WIHE3, A%E2 HKS |@ HIHES5 NE2 HKE
T
n
£ -7, Sn—ﬂ%ll Ap=3+(n—7)x2

SF L3 & F5h5  wolh S
2. RDOELELIND — F]“Iﬁan%?k&’)ot

Find the n-th term of the following arithmetic progressions.

L F A 9 = 9
BIRE H2HEMNS, FHAL4HEMNT

Ay =3+(—7)%x2

=77
a, Q, Qs a, a;
1 3 5 7 9
g (3477 )
Q) —a+t d—3 -0 S = .
a, =a+3 d=7 @
= §0
@-—-0&n 2d=4 Sod =2
iz ) o
D X Lt at+2 =3 Joa=7 S = 3+ 5+ 749
T4 35T
Ap =/+(n—7)x2 = 2n—7 — —
BAEL £ Z5 ) @a_?)n—l,I,\%I @G—Sn—Z,I,\%z7
M H2HEN5, H5 A 14
a, Ay as a, as
5 14 CZ;:3 xX7—=7 =2

a,; =3 x73—7

=3¢

73 (2+36)
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Find the sum Sj, up to n-th term of the following arithmetic progression {,}. Find the n-th term and the sum Sy, of the following arithmetic progression {&,}.
I I LrZ9 = 9 b
e 3, 5, 7,9, 11, - B % Eﬁﬂ%’“’"ﬁﬁif‘@%mﬁ%,
- - £ ) b
E 3 E 2 % 6 I 5 8 10 3 E T OB T5
L\Oti"//\‘ﬁ ’ ’ The sum of the first through fifth terms is 25,
_ rf}/g a’n: 3+( n—7 ) X2 =2n-+7/ and the sum of the sixth through tenth terms is 75.
L Z) 5 &
S, = xnx{3+(2 n+7 )}=n’+2n mAa NEdLTDE
™ Lk 9 A
M 2, 5, 8, 11, 14, - MAp AL TORRL LY
S; = ; x5 x(2a+4d)
= 5a+70d=25
a+2d=5 ~-®
Lr 29 2w 9
MBS EI0EFET @%U 2 25+75=700
&0::2 x70 x(2 a+9d)
T ) SnELb = 70 a+45 d =700
2. /k@%rﬁﬂ@%ﬂ S, @Hik{é‘}i’*&)i
Find the maximum value of the sum Sy of the following sequence. 2 a-+9d :20 . @
o En Lrzs <5 & L5 ad 0o b ““O“TLL%
GlEE WJHE 6 @§_5 D EERS{ A, O S, D.@oitssRALME, a=/, d=2
ERAN A2
@Hik{ﬁ%;k&)i VoA - B
Find the maximum value of the sum S;, of the arithmetic — R a’n - /+( n—/7 )X 2 =2n—]
sequence { @y, } with first term 69 and common difference —5. Sn: ; X 1 X { 2 % /+( n—7 )X 2 }: nz
Wolt A ZH
— 8 Ap=069+(n—7 )x(—5 ) =—5n+74 — _
WoAZH  ED 5| »E % :ﬁ\ nH % E\i wCOD%DZIJ) 20 ,
—BAEANECHE DD S
74 BHHEMNDLE 1 Iﬁif@ﬂ]i)) 90
=5 n+74 >0 & n<—:/4.é>
LEALT S 72 9
nidaRrRLL DT, rk/éfféi’(fﬁi’(%é
Qu==—5 xX/5+74 =4

b TnEn

B/IMEE TORABRRCHE D DT

Sy f-—é—xz4x(é9+4):$//
b AT LrZ9) 9 & koéé’\?ho
N W30, A4 0% {a, oS,
2wk b &
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1. /k@“%%&%ﬁ{an} nIEiT@%DS fz:k&bot

Find the sum Sj, up to n-th term of the following arithmetic progression {,}.

nwn

i 2, 5, 8, 11, 13, ---
Lrzs _oé
WA 2, NE 3
Sy = g xnx{2x24+(n—7)x3}
= g (3 n+7)
bATEL
N 1, 4, 7, 10, 13,

ek TIoho AR AR5}

2. /k@%zﬁﬂ@%u S, @Hijthé%;k&b X,

Find the maximum value of the sum Sy of the following sequence.

B/9 F THNO0AETH B,
0/9:—4 X /9+76 =0

Eoooos Foooos b SoEn

F/8BIEFIEIIBELITCORARERICL DDT

v En Lrz) 2y & Logsono )
wE  WE T2, A4 0EEES{Q, oS,
SnEnb b
DI Kl z KD X,
Find the maximum value of the sum S;, of the arithmetic
sequence { @y, } with first term 72 and common difference —4.
WolEAZ)
— 8 Ap=724+(n—7 )x(—4)=—4n+7¢
WOl ZH WL ko
—ENOAE L DD
76
—4n+72 20 £ n=s——=79
Zu 9 wr ko 4

S = %xm x (7240 )=6s4
H AT LEZ9 9 & k?éé’\?ho
FIRE G 40, -5 D {a, oS,
SVEnh '6&
D KE %KD L,

3.
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Find the n-th term and the sum Sy, of the following arithmetic progression {&,}.

nwn Lk 29 7;/‘:; 9 b . 7;\‘2 9 .
Bl WHENLHE 6HE TOMMN 69, % 5HN 16
The sum of the first through sixth terms is 69, and the 5th terms is 16.
Leid )8
MAEa ~EAdELTDHE
LxZo AN

MBS BH6EET 0)7’%07)%9 I

S: X x(2a+sd)
= ba+/75d==69
2 a-+5d=23 @
oo
E5B N6 LY
A; =a+4d=7¢6 @
nNAY21F7>THLE &
D, QOnizsz X +M=,a=4,d=3
® -+ 2a+b5d=23 “d=3
—) @ %2+ 2 a4+ d=32
-3 d=— a =/
WolFAZ )

— 48 Ap=4+(n—7 )x3 =3 n+7
o S, — %nx{,Z x4t (n—17)x23 |

_ I
- n(3n+ts)

b AN

29

L W ) 2 5
HE  HENLE S E T@%uz‘»loo % 3IHEMN 8
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Fill in the blanks to complete the sentence.
LxZ) 5 & k; S T no Wwo itk 29
O WHa, A7 dOFELINO—KHEIX
An =+ )
L Z) o239 k; & Toho LxZ) LL )
@ WHa KEIO SEEIOPNENSE nHE T
b
DRI
n( + )
S, = —
ekl koéé’oho o e
W 00 58 5 B9 O 5 nIEiT@%uS IZOWTEZ K,
Answer the sum Sn up to the n-th term of the following arithmetic progression.
v En Lrz) 2y & Lo ET o no )
BlRE  FIE 69, AFHE—3 D% %;&W{ ot S,
E3
P TR 2B DI T DR L
What term in the sum S;; of an arithmetic sequence { Ay, } with
first term 69 and common difference —3 first becomes negative?
Wolt A ZH
— 8 Q=069+ (n—7 )x(—3)=—3 n+72
Sn == xnx{69+(=3 n+72)}
- ; xnx (=3 nt4) <0
—3 nXx (n —%) <0
n ( _ﬂ) ~0
3
n<0 7~ n >/4—/:47
e i
Sn b T ACKE DD BLATH B,
b AT Lrz) 5 LoETon b
R 4T, A3 osERS{a, o S,
=9V Wk
R T RIS 2 5 O B TIE AR £

Bl &

3. %%ﬁﬂ{an}@fw%ﬁi)%

) b b
nIEi <of S, ko X,

Find the sum Sy, up to the n-th term of the following arithmetic progression {&,}.

L LZ9 = 9 b

Bl HIENLEH S E TOFMN 100 ,
LZ9 =z 9 b
FIENGH 12 - E TO N 222

The sum of the first through 8th terms is 100,

LxZd 5 &

MmAa, ~EdLTBHL

Lk Z9

9 b
47 78 7556%5’%5\0%1*0)%0%/00 £
- x¢ x(2a+7d)

2
= ¢ a+20d=700 @

LxZo 2w z

B H S %/2@0% T @%wzzz I

and the sum of the first through 12th terms is 222.

S, = g x72x(2a+77d)
= 72 a+66 d=222 @
nNAY21F7>THLE &
D, QnizsrRA+mE,a=2,d=3
@ x 3 24 a + 4d= 300
—) @x2 24 a+ /szd: yyy
—4p d =— /44
H
%uSnf% x{2 x2+(n—7)x3}
:gnx(gnw)
b AN LZ9
WEE  #IE D ””14Iﬁif@%u7b>777
HITE

'5 16 Iﬁi ’G‘@?HZ’J‘S 1000




